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Abstract. Let {X(k), k ∈ �+} be a random walk in �. Assume that transition probabilities of this
walk coincide with transition probabilities of symmetric random walk except for a fixed neighborhood
of zero. Weak convergence of a sequence of normed walks {Xn(k) = 1√

n
X(nk), k � 0}n�1 is proved.

The main result is a generalization of J. M. Harrison’s and L. A. Shepp’s theorem on a weak convergence
to a skew Brownian motion in a case when a symmetricity of the random walk fails in a single point.
All possible limits for the corresponding random walks are described.
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 �� ����������� � ������ ����� ���
�� ��� m = 0�
 ����������
�� �� � !!�"#$ �� %� &� '()** +,-� ���� ��.	��
 �� ���� p0,1 = p
 p0,−1 = q = 1 − p
�� pi,i+1 = pi,i−1 = 1/2 ��� i �= 0
 �� �������.����� �����.���/ .������� �����

�0���� {Xn} ���
�� �
�������� �� ������ 
��0��.��� �0/0 Wγ(·)
 γ = p − q
 ��
��
�	�	�	�.���� �����.������ ���1	�0 � �	�	/����2 �0�����2

pt(x, y) = ϕt(x − y) + γ sign(y)ϕt(|x| + |y|), x, y ∈ R,

�	 ϕt(x) = (2πt)−1/2e−x2/2t 3 �0����� ����������� ��������0 N(0, t)�
4�	5�1���� γ ∈ [−1, 1] ����.������ ��	5�1������ �������	���� ���������
 ��

���� γ = +1 ��
� −1�
 �� Wγ 3 1	 
��0��. �0/ � .��
����� . �0�� .���0 �.����
 �
���� γ = 0
 �� Wγ 3 �.���6��6 
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������ ��.� ����� . +9-�
:� ;� <����� �� =� ;� >�?��� +@- 0���������� �	�0����� +,- �� ��������2 ����.A
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���8 �������� �� ��0���8���
��� 0�������	�� �� �������8� ���0�1��
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:������	�� ���������6 �����.����6 ���12� {X(k) = X(x0, k), k ∈ Z+} �� Z �
�������� . ���1� x0 ∈ Z �� �	�	/������ ���.��������� pi,j ��� ��?0�� .�����������
.�� .����.����/ ���.������	6 ��� ���	�������� .������.��� 
�0����� {S(k), k ∈
Z+} ������ ��� |i| � mC

pi,i+1 = pi,i−1 = 1/2, i /∈ {−m, . . . , m}
� ������
 �� � ����� ���?��� {−m, . . . , m} ���12� X ��?	 �	�	/����� 0
 .������
��?0��
 ��.����0 ����0 ���?��� {−m−1, . . . , m+1}C

m+1∑
j=−m−1

pi,j = 1, i ∈ {−m, . . . , m}.

H0�	�� ���	���	�0.��� {X(k), k ∈ Z+} �� ���	�����	 .������.	 
�0����� � ��	A
���	������2� �	�
����2 . ���?��� {−m, . . . , m}�

7�.�������� X(x0, t) ��� .��/ t � 0 �	�	�	�.�� �� ����6����2C

X(x0, t) := X(x0, [t]) + (t − [t]) (X(x0, [t] + 1) − X(x0, [t])) .

B	/�6 x ∈ R� :������	�� ����0��0 �������.����� ���1	��.C

Xn(t) = Xn(x, t) :=
1√
n

X([
√

nx], nt), t � 0.
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��0��.��� �0/0 Wγ(·) � �������� . ��A
�1� x
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γ =
α − β

α + β
,


� α $ ����������� 
�� ����	��� X ����	���� � ����� −m � ����� m+1� ��
����	������ � −m−1% 	 β $ �	��	�� $ � ����� m � ����� −m−1� �� ����	������
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����	����� �	������ {X(k), k ∈ Z+}
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�� )q, p � 0" �	 � ����������!
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������� qP0,W−1 + pP0,W+1 + (1 − q − p)P0,0!
���� ��	�� −m−1 �	 m+1 ������	������ �� �����
�� ��	������� ������� X∞
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��	�����
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m+1∑
j=−m−1

pi,j = 1

� 	�������� X �������� ��
m+N∑

j=−m−N

pi,j = 1

��� ������� �����	4	 N  5��
�	� � ��	�� ������� X �	2�� �	�4������ �� 
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1	
�	 m = 1 ��

pi,i±1 = 1/2, i /∈ {−1, 1},
p−1,−2 = q′, p−1,0 = p′,

p+1,0 = q′′, p+1,+2 = p′′,

�� q′� p′� q′′� p′′ 9 �	����� ��
��� ���� 3	 q′+p′ = q′′+p′′ = 1 :	2�� ����������� 3	
α = p′p′′/(q′ + p′′) �� β = q′q′′/(q′ + p′′) ;�2�� �� ��	���	6 �� �	
���	���
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γ =
p′p′′ − q′q′′

p′p′′ + q′q′′
.
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pi,i−1 = pi,i+1 = 1/2 ��� i �= 0,

N∑
j=−N

p0,j = 1, p0,0 �= 1.

$���
����
 ��
���� % 	�� m = N & '�
����
��� ρi (��
�������� �
������� � m+1
�� �
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ρ−m−1 = 0,

ρ−m = 1
2ρ−m+1 + 1

2ρ−m−1,

. . .

ρ−1 = 1
2ρ−2 + 1

2ρ0,

ρ0 =
∑m

j=−m p0,jρj ,

ρ1 = 1
2ρ0 + 1

2ρ2,

. . .

ρm = 1
2ρm−1 + 1

2ρm+1,

ρm+1 = 1.

)
�����
� *
 �
��� (−m−1, 0)� (−m, ρ−m)� & & & � (−1, ρ−1) �� (0, ρ0) ��#��� ��

	��� ������& $� �

�	������� ���!
" �� 
������
" 
 ��� ��
�����
 �������� ���"
����
"+

y =
ρ0 − 0

0 − (−m − 1)
x + ρ0,

�
��
 ρk = (1 + k
m+1 )ρ0� k � 0&

,���
����
� ρk = (1 − k
m+1 )ρ0 + k

m+1 � k � 0&
)�	������!� �� ρk � -����	��. �������� �������� 
������� �������� 	�� ρ0+

ρ0 =
m∑

j=−m

p0,jρj =
m∑

j=−m

p0,j(1 − |j|
m + 1

)ρ0 +
m∑

j=1

p0,j
j

m + 1

= ρ0 −
m∑

j=−m

p0,j
|j|

m + 1
ρ0 +

m∑
j=1

p0,j
j

m + 1
.

$��	��

ρ0 =

∑m
j=1 jp0,j∑m

j=−m |j|p0,j
.

/���� ���
�� � ��
�� ����	�� ����
 (	�� α = ρ−m �� β = 1 − ρm�

γ =

∑m
j=1 |j|p0,j −

∑−1
j=−m |j|p0,j∑m

j=1 |j|p0,j +
∑−1

j=−m |j|p0,j

=

∑m
j=−m jp0,j∑m

j=−m |j|p0,j
.
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��� {Xn} ��
��� X∞ �
�
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�

γ =
E ξ+ − E ξ−

E |ξ| =
E ξ

E |ξ| .
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.������� 	������ / ��
 ���
���0 ���� x0 > 00 
 1	
� m+1 2 �1	�	��� � ��1
�
2	�1

�
�34��� X � ��������1	4 /� 5�6� ���
��� �����
�
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� .�
 ��1���7���
 ��
������ ��������
�� �
�34�
 8
����
 {X(k), k ∈ Z+} �
� ���� ������ ����1	
��	� ���� 
� ��
��
91������: ���; ���
��7��; �
�34��� 8
����
 {Y (k), k ∈ Z+} 	
 {Z(k), k ∈ Z+}0 <�
�
4	� ����6 ���1	� 1	���	���= Y > ������ ����
����� ���
������� ����
��
0 

Z > �
�34� 8
����
 �
 {−m−1, . . . , m+1}0 <� ���1�2 ��; ���3�1� X � �����
���
?
������ ����3�� ���������

@����
���� 	�
2�	���4 {X(x0, k), k ∈ Z+} � ���
	��� � 	��3� x0 ∈ Z� A�� �	�
	�
�
�
����1	� ��7�
 ��
7
	�0 <� x0 > m� B���
���� ��1�������1	� �����	�� �������
{τk, σk, k � 1} �
1	����� ������

C���
���� τ1 := inf{j > 0: |X(x0, j)| = m} > �����	 ���6��� ��1
�����
 ���3��
1�� X 	���� m� .
��0

σk := inf{j > τk : |X(x0, j)| = m + 1}, k � 1,

τk+1 := inf{j > σk : |X(x0, j)| = m}, k � 1

> �����	� ��1�������; ��1
����� ���7�� {−m−1, m+1} 	
 {−m, m} �����������
C�����2�� ���3�1 {Y (k), k � 0} �
1	����� ������
C���
���� Y (k) := |X(x0, k)| − m0 k = 0, . . . , τ1� ��� �� ����7�2�� �
1	���

	�
2�	���� Y 0 
�
 �
������
1� � �����	 τ1 ��	�
��
��
� � 	���� ����� C���
����

Y (τ1 + 1) := 1,

Y (τ1 + 1 + k) := |X(x0, σ1 + k)| − m, k = 1, . . . , τ2−σ1,

Y (τ1 + 1 + τ2 − σ1 + 1) := 1,

Y (τ1 + 1 + τ2 − σ1 + 1 + k) := |X(x0, σ2 + k)| − m, k = 1, . . . , τ3−σ2,

Y (τ1 + 1 + τ2 − σ1 + 1 + τ3 − σ2 + 1) := 1,

� 	
� �
���
D���� �
��	�0 <� {Y (k), k ∈ Z+} > 1���	����� ���
����� ����
��
 �
 Z+ �

�����		
� � ����0 	��	�

P(Y (k + 1) = i ± 1/Y (k) = i) = 1/2, i �= 0; P(Y (k + 1) = 1/Y (k) = 0) = 1.

C���	���0 <� ��1�������1	� {Y (k)} �����
�
1
 �� 	�� �
1	��� 	�
2�	���� {X(k)}0

�
 ��
;���	�1
 ���
 �����
��4 [−m, m]� C� ��6�� �
1	��� 	�
2�	���� X ������2��
��1�������1	� {Z(k), k ∈ Z+}=

Z(0) := m,

Z(k) := X(x0, τ1 + k), k = 1, . . . , σ1 − τ1,

Z(σ1 − τ1 + 1) := m sign(Z(σ1 − τ1)),

Z(σ1 − τ1 + 1 + k) := X(x0, τ2 + k), k = 1, . . . , σ2 − τ2,

Z(σ1 − τ1 + 1 + σ2 − τ2 + 1) := m sign(Z(σ1 − τ1 + 1 + σ2 − τ2)),
� 	
� �
���

?��
7�� �
��	�0 <� Z 2 �
����1���� �
�34��� �
 {−m−1, . . . , m+1} � ����;��
����� ��������1	
�� pi,j ��� i = −m, . . . , m 	
 p−m−1,−m = pm+1,m = 1�

E�
2�	���� ���3�1�� Y � Z ����
�
4	�1
 �� ������ �
��
� 	�
2�	���� �
�������
�
�34�
 X � 8�7�
 ��������	�0 <� ���3�1� Y 	
 Z ���
��7��� E
��� �����0 ��
	�
2�	���
; ���3�1� X �� �������
�� �
�� ���
��7��; ���3�1�� Y 	
 Z�



��� �������	 ��
��
��	 
������
�� ��	���� � ���������� ��

�������� ��	
 Y � �

��� ���������
�
 ����
�
�
�
 ��������� � Z � �������
���� � Y ����
������ ������ �� {−m−1, . . . , m+1} � ��
�
��
���� ���� �
����

��
����
������ �
 �
 �� �
��� 

�
�����
 �
��
����� �
���

������ X̃ !��� ��
�
���� ����� ����� �
��

��� 	
 � X"� �������� �
 ����� ��
�
��
�� ��������# ��
�����
Y �� Z ��������� ���
�$

%
������
 ηk �� ζk � �
����� k��
 

�������� �
��� ���� ��
���
� Y �� ��
�
���� {−m−1, m+1} ��
���
� Z ��
�
��
�
$ &

� � �
�� ���'
# ������� ���(��
��#

�
�
�
 ��
���� X̃ �� �������
 ������� ���(��
��# ��
���� Y 

 �
����� η1 �� ����
���
 ## �� m 

����� ��
�� !����
�(�
� x0 > m > 0"$ ) �
�� �������
# �������

���(��
��# X̃ �������
 
������ ���(��
��# Z ��
 0 

 ζ1$ *��� ��
�� ��
������(�


������ ���(��
��# Y + �������
 ��������� ��
���� Y ��
 ηk + 1 

 ηk+1 �� ������

�� m 

����� ��
��$ ,�	
 sign(Z(ζk)) = −1� �
 ��

������
 �� ������� ���(��
��#
���������
 ��
�
��
 
�� Ot$ *��� ��
� ��
������(�
 ���(��
��� Z ��
 ζ1 + 1 

 ζ2�
� ��� 
���$ -��
��� ����� ����� �� ��

�������� 
������� ���(��
��� �� 

���
���������
�$

������
 ������� 	
 �
��

����� ����� ���
� ��
��� X̃ ������������� �� �
�
�
�� ��
���� X $ &
��
 ���� �
��

�� ( ���(��


�
�����
�$

)��
��
 �
���

������ .Y �� ����
�/+

Y ′(k) := sign(Z(ζj))Y (k), k = ηj , . . . , ηj+1, j � 1.

*
��������
 ��� ��
���� ������
 
�� ��� t � 0 ��� ���
� �� � X $ *��� �� �
���
���
� 	
 �
���

������ ��
����� Y ′n = { 1√

n
Y ′(nt), t � 0} �����
 �����(���� 

 �
�
�


��
��
�
�
 �� �� � �
��� �����
��(�
��� 	
 ������� �
���

��
��� {Xn} ��
� ���
�
� ���
�$

-�������
� 	
 .����
����/ !�
��
 ������������" �
��� � �������� Y ′ ��'� 

���
��� ����
�
������ 

 Y ′ ��������� 0����
���1��� 234 �� �� �
���
� 
������� Y ′ ��
( ������
� 5���
��$ *����
� ��
����
��� ���� 

� � �
��� ���� �������� ��
 �
�
�
� ��
�
 �
�� � ��# �
������
 ��������$

3$6$ ������ ����	�
�� 
������	�� ��
��
��	�
��� *
���
��
 �
��

��� Y ′$ ���
 �� 0 < a < b$ %
������
 ����� r(n) ��������� ��
��
����� ��������� Y �
��� ����
�� ��� n$ &

�

P(Y ′(n) ∈ [a, b]) = P
(
Y (n) ∈ [a, b], sign(Z(ζr(n))) = +1

)
=

n∑
k=0

P
(
Y (n) ∈ [a, b], sign(Z(ζk)) = +1, r(n) = k

)
.

!&�� � 
��� ���� �
 �����
��� �
������� 
�� ��
��
�� ������� �������� ��
 0 

 n�
 
�� ������
���� �
���� ���� �� ����'� ���'
# �
�
���� 


�����$"

%��'�� 


��
� !�
��
 ��� k = 0" ��(# ���� � �� ��
�������� 
�� {Y (n)} �
������
�� � [a, b]� �� �
��������� 

 �
�
 � ����$ 7� ��
�������� ��� 

����� �� 

�
�
�
�
�������� ��
����� !
��$ ����$ 284� 0�$999� :6"+

P(Y (n) ∈ [a, b], r(n) = 0) = P(S(n) ∈ [a, b]) − P(S(n) ∈ [−b,−a]).
&

�

P

(
1√
n

Y ([nt]) ∈ [a, b], r(nt) = 0
)
→

∫ b

a

(ϕt(x − x0) + ϕt(x + x0))dx, n → ∞.

*�� ��� 

����� ������� ������
n∑

k=1

P

(
1√
n

Y ([nt]) ∈ [a, b], sign(Z(ζk)) = +1, r(nt) = k

)

=
n∑

k=1

P

(
1√
n

Y ([nt]) ∈ [a, b], r(nt) = k

)
· P(sign(Z(ζk)) = +1)



�� �� �� �����	
�� 
 �� �� ���������

���������� �	�
	�� ���
����� ���	�	�� ��� ���	 �� ��
���������� ��	 ���	 �
���	
��� 
��������� � ��
 �������

�������� ����� sn� an,k � ��	
��
��
 ������ ���
 ��

!" limn→∞ sn = s�
#" limn→∞

∑n
k=1 an,k = A�

$" limn→∞ an,k = 0� k � 1�
���
 limn→∞

∑n
k=1 an,ksk = As�

%�����	�� � �	�
	�� ���
���� sk = P(sign(Z(ζk)) = +1) ��

an,k = P

(
1√
n

Y ([nt]) ∈ [a, b], r(nt) = k

)
.

�	��&�� 
	
	��
 � � '� 
������������ {Z ′(k) = signZ(ζk), k ∈ Z+} � ��������
(�
����� �	)�* �����
����� α �� β +� �� �	�
	�� !" ������� �� �	��� �� �� � ��
+���� � 
��� 
������������ �
 �������"� ���� ������ {Z ′(k)} � ����
��� � �� �
	,

��� �� �� � ��&	� ����� ��������
� * 
��
���� (q, p)� 

 ���� limn→∞ sn = p� ( 
���*�	�� �	* 
��
���� � ����� ���	�	����

-������	�� �	
	
 ����
∑n

k=1 an,k� %���� ��� '�
n∑

k=1

an,k = P

(
1√
n

Y ([nt]) ∈ [a, b], r(nt) > 0
)

.

���� �� 

 �� 
� ���� ��� � 
� ���� '�

lim
n→∞

n∑
k=1

an,k = 2
∫ b

a

ϕt(x + x0) dx.

%���&	�� ��
	���� '� limn→∞ an,k = 0� .�*���� �����
�����

an,k = P

(
1√
n

Y ([nt]) ∈ [a, b], r(nt) = k

)
,

��	� ���� �	 
	
	� '�� �����
����� P(r(nt) = k)� �	)�* τ1 = τ1(n) / ���	�� 
	
����

��
�
����� � ���� ��������� {Yn(k), k � 0} �� ���
��� � ����� [x0

√
n]� %����� ��

�	
	� r0 = r0(n) ��������� 
��	
�	�� � ���� ��������� {S′(k) = S(τ1 + k), k � 0}
+����� ��������� �� ���
��� � ����� 0" �� ��� n� ����

an,k � P(r(nt) = k) � P(1 � r(nt) � k)

= P(1 � r(nt) � k, τ1(n) < n(t − δ)) + P(1 � r(nt) � k, τ1(n) � n(t − δ))

� P(r0(nδ) � k) + P(n(t − δ) � τ1(n) � nt).
1� 
	��������� 2!� 3��111 45�467 � 
� ���� '� 

��� ���� �� ��������� �	
������� ��&	
��� �
���	�� �� �������� ����� ��� ��������� �	� � ) n� ����� limn→∞ an,k = 0�

8�&	� �� �	�
	��� ���
�����

lim
n→∞

n∑
k=1

an,ksk = 2p

∫ b

a

ϕt(x + x0) dx.

��� � � ����

lim
n→∞P(

1√
n

Y ′([nt]) ∈ [a, b]) =
∫ b

a

(ϕt(x − x0) + (2p − 1)ϕt(x + x0)) dx. +!"

9��������� ���)�� ���� ���
����� * �
�� �� * 
��
���� 

 ���:��� ) a � b� ;
�,
)����� � '� �����
����� 
��
�
 � � [a, b]� �	 ��)���� � ����� 

 ����� ��
�����
����� ��
 �����

lim
n→∞P(

1√
n

Y ′([nt]) ∈ [a, b]) = 2q

∫ b

a

ϕt(x − x0) dx, a < b < 0, +#"

�	 q = limn→∞ P(sign(Z(ζn)) = −1)�



��� �������	 ��
��
��	 
������
�� ��	���� � ���������� ��

��������� �� 2p − 1 = p − q	 
��� � 
�� �� 
�� ��������� ��

lim
n→∞P

( 1√
n

Y ′([nt]) ∈ [a, b]
)

=
∫ b

a

(
ϕt(x − x0) + (p − q) sign(x)ϕt(|x| + |x0|)

)
dx, −∞ � a � b � ∞.

���������� ��������� ������������� ������� ��� ���� ���!���� � �����������
P
(
Y ′(nt1) ∈ [a1, b1], Y ′(nt2) ∈ [a2, b2]

)
�� 
�"�"� �����#��� ���� �� �������$ %���%�&

���$ k1 �� k2 ���"��"�� � ���� ��  �� nt1 �� �� ������'�#  �� n(t2 − t1) ����������	
(������� ���� � )��* ���� �����%� ��� k = 0+

n∑
k1,k2=0

=
0∑

k1=0

0∑
k2=0

+
0∑

k1=0

n∑
k2=1

+
0∑

k2=0

n∑
k1=1

+
n∑

k1,k2=1

.

,����)� ��� �"�'�$ ����$ ��� ���$������� ��% ����� �% � ��� �����������$ �����&
����$ 
�� ��������� ����)��� ���!���� �� �"��"�� 
�����)��� � ��� �������"���
��������* ���� ���"�"�� ��������# �������% � �"��"�� 
�����)�	

�������� ����� s′n� s′′n �� an(k1, k2) � 	�
��
��	� ������ ���� ��

�� limn→∞ s′n = s′� limn→∞ s′′n = s′′�
�� limn→∞

∑n
k1=1

∑n
k2=1 an(k1, k2) = A�

-� limn→∞
∑n

k1=1 an(k1, k2) = limn→∞
∑n

k2=1 an(k1, k2) = 0, k1, k2 � 1�
����

lim
n→∞

n∑
k1=1

n∑
k2=1

an(k1, k2)s′k1
s′′k2

= As′s′′.

��
���		�� ����� ���

a′n,k1
=

n∑
k2=1

an(k1, k2)

�

a′′n,k2
=

n∑
k1=1

an(k1, k2)s′k1
.


��� ��� a′n,k1
�� s′k1

��%�������� ����� �"��"�� 
�����)�� ����

lim
n→∞

n∑
k1=1

a′n,k1
s′k1

= As′.

��������� ��
∑n

k1=1 a′n,k1
s′k1

=
∑n

k2=1 a′′n,k2
	 .��� ����� �� �"��"��� 
�����)��

lim
n→∞ a′′n,k2

= lim
n→∞

n∑
k1=1

an(k1, k2)s′k1
= 0 · s′ = 0, k2 = 1, . . . , n.


�%��  ����� ����������'� �"��"�� 
�����)� �" ���� ���� ��"�����

lim
n→∞

n∑
k2=1

n∑
k1=1

an(k1, k2)s′k1
s′′k2

= lim
n→∞

n∑
k2=1

a′′n,k2
s′′k2

= As′s′′.


"��"�� ���"�"��	 �

/"# �������% � �"��"�� 
�����)� ����� ���"���"������ �% 0�����#��1 �"��"��

�����)�� ������%�� � �%�* !��" 0�����#��1� � ��% ����	


�%��  ����� ��� �������"��� �%�� "����������$ ����������� ������� �� �� ����&
�������$� ���������� ����������� ���!�������� �� ���� �� �������$ %���%����$ ���&
�������� �� %� ���� � �������������� ���������� 0%�����1 �"��"�� 
�����)�+ ���
�����#��$ ��� 2 0�����#��1� ��� �����#��$ 2 0�����#��1� � ��% ����	



�� �� �� �����	
�� 
 �� �� ���������

��� ��������� 	�
���
 ������	�� ��	�������	��{
1√
n

Y ′(nt), t ∈ [0, 1]
}

� C[0, 1] ����� ��	�
���� ���
�
�� 

 �����	�� ����
����	���
��� �����	��
 ����
����	�� ��	�������	�� {Vn(t), t ∈ [0, 1]} � C[0, 1] ��������� �

��	�
���� ����� ����  �!��" �����
��� �
	������ ���� ����#

��" ��� ��������$� ε > 0 �	��% �
�� &�	�� a� '� ��� �	�� n � 1
P (|Vn(0)| > a) < ε;

���" ��� ��������� α > 0� ε > 0 �	��(�� δ > 0 � n0� �
�� '�

P (wVn(δ) > α) < ε, n � n0,

�� wf (δ) = sup|t−s|<δ |f(t) − f(s)| ) ������ ����������	�� *���+�
 f �

,���
 ��" �&������ ������%��	�� -��������� ����� ���"� . �������� Y ′ ����� ����+�
�� /�0" ������
%� '� |Y ′| = Y = |S|� �� S ) ���&
��� 	������&�� ���
����� ����
���1

 �
���� '� ����(�
�� ��
� Y ′ ����� ��2� ���� Y ������(% ���(�  ���

wY ′n(δ) � 2wYn(δ) = 2w|Sn|(δ) � 2wSn(δ),
 ���� ����
 ���" ��� ��	�������	�� Y ′n ������
% � ����������
 ����� ��� ��	�������	��
Sn� ��
 % �����	�� ����
����( �
 �������( ���	���
�
 
��� &����� �������� 	�
��� ������	�� ��	�������	�� ���+�	��{

1√
n

Y ′(nt), t ∈ [0, 1]
}

�� ��	�$� ��������$� ���� {Wγ(t), t ∈ [0, 1]}�
/�/� ���������� �� 	�
�������

� Xn� 3�� ���
�
��� '� ��	�������	�� ���+�	��
Xn = { 1√

n
X(nt), t ∈ [0, 1]} ���$
%��	� �� ��$� � $�
��&��$� ���+�	�� '� � ��	�����4

��	�� { 1√
n
Y ′(nt), t ∈ [0, 1]}� n � 1� �
� ��
�������	� �
	����� ��������� �����������

���� �� ����� Vn(·) ⇒ V (·) � C[0, 1]� �	
��
�
��� �� {ηn(t), t ∈ [0, 1]} � ��
���

�����
�� ����	�	��
� �� t �	���
��� ���
� �� supt |ηn(t)| P→ 0� n → ∞� ���� ��
���

�����
�� �
������
� �	���
�� {V ′n(t) = Vn(t) + ηn(t), t ∈ [0, 1]} 
����� ����� ��
! �

C[0, 1] �� {V (t), t ∈ [0, 1]}�
���� �� ����� Vn(·) ⇒ V (·) � C[0, 1]� �	
��
�
��� �� {θn(t), t ∈ [0, 1]} � ��
������

��
�� ����	�	��
� �� t �	���
��� ���
� �� 0 � θn(t) � t� t ∈ [0, 1] � supt θn(t) P→ 0�
n → ∞� ���� ��
�������
�� �
������
� �	���
�� {V ′n(t) = Vn(t − θn(t)), t ∈ [0, 1]}

����� ����� ��
! � C[0, 1] �� {V (t), t ∈ [0, 1]}�
��� ��������� ���� � ��	�
���� ����������� '� supt |Vn(t − θn(t)) − Vn(t)| P→ 0�

n → ∞� � �
�� ������	�
�� ���� 0�
5	������ ��� ��������� |t − s| < δ

|Vn(t) − Vn(s)| � sup
|t−s|<δ

|Vn(t) − Vn(s)| = wVn(δ),

�� �+���


P

(
sup

t
|Vn(t − θn(t)) − Vn(t)| > α

)

= P

(
sup

t
|Vn(t − θn(t)) − Vn(t)| > α, sup

t
θn(t) � δ

)

+ P

(
sup

t
|Vn(t − θn(t)) − Vn(t)| > α, sup

t
θn(t) > δ

)

� P(wVn(δ) > α) + P

(
sup

t
θn(t) > δ

)



��� �������	 ��
��
��	 
������
�� ��	���� � ���������� ��

��������	
� �
� ����
	��� α � δ�
����� ���� �
� �������� α > 0 �� ε > 0 ������� δ > 0 �� n1� ��� ��� �
�

����
	��� n � n1 ��������
�
	 ����� ���� � ����� ������

P(wVn(δ) > α) < ε/2,

� �
� ε �� δ ������� n2� ���� ��� �
� ����
	��� n � n2 ��������
�
	 ��� � ���!

� ��

P

(
sup

t
θn(t) > δ

)
< ε/2,

�� �
� ����
	��� n � n1 ∨ n2  �� �

P

(
sup

t
|Vn(t − θn(t)) − Vn(t)| > α

)
< ε.

"��� V ′n(·) ���#���	
� �� V (·) �� 
� �! $ �� 
� � Vn(·) �� Vn(·−θn(·)) − Vn(·)�
%� � ���������
&�
��
�� � 
� � � �
� Vn(t) = 1√

n
Y ′(nt)� � � ��
� θn(t) ���	 � � ��
! '�
��

���������#� �����
� X �  � ������ (
� ��#�� ��� 
����
����
� 
� �!�  �  �� �
��������� �� supt θn(t) ��� �� ��� n → ∞ �� ��
� �� � ������
�!�
)���* r(n) + ��
	��
�	 ����������	 ��'�� ��
	 �
������ S(k) = S([

√
nx0], k) ��


����� � ��'�� [
√

nx0] �� n ������� � ζ′k = ζk+1 − ζk + ������� ��
���
�* �����
�
Z �
�������  � ������ )���* ����� r0(n) + ��
	��
�	 ��������	 � ��
	 �
������ 
S′(k) := S(τ1 + k)� k � 0� �� τ1 = τ1(n) +  � ��� ���,�#� ������
���� � ��
	
�
������ S([

√
nx0], k)� "��� ��
��
	�� r(n) = r0(n − τ1) � r0(n)�  �� � ������-

θn(t) � 1
n

r(n)∑
k=1

ζ′k � 1
n

r0(n)∑
k=1

ζ′k.

.����� �� �� �����

1
n

r0(n)∑
k=1

ζ′k =
r0(n)

n

1
r0(n)

r0(n)∑
k=1

ζ′k

� �����* '�
���� ������ ��� �� �� � ������
�! �� ��
��

�
��
	�� r0(n)√
n

���#���	
� �� �������
� ��  ���
� ��� �
	��/ ���������/ ��
�0

'��� ����� 1$2�� �� �����,���� r0(n)
n � �'������� ��� �� �� � ������
�! �� ��
��

(�

��� � ����� �
� �������

1
r0(n)

r0(n)∑
k=1

ζ′k.

&#����� � ������� ���� ��� ����� #����� ζ̃′k = ζ′ik
+ · · · + ζ′ik+1−1 ��
� '�
� ����0

�� �  � ����� �#���� 3�
	��
�	 ����� #������ �'������� �� ��������� r0(n)� �� �
��������	
� ������

1
r0(n)

r0(n)∑
k=1

ζ′k � 1
r0(n)

r0(n)∑
k=1

ζ̃′k,

� �����* '�
���� ���/ 
��/�	 
� � ����
����� �������� �������
���� ����������

��
�'�� ζ̃′k� �
��
	�� E ζ̃′k < ∞� ζ̃′k �� ��
����	 ��� r0(n)� �� r0(n) → ∞� n → ∞  ����
��

1
r0(n)

r0(n)∑
k=1

ζ̃′k
P→ E ζ̃′1, n → ∞.

4 ����� �����,���� 1
n

∑r(n)
k=1 ζ′k ��� �� �� � ������
�! �� ��
��
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���� �� ��	�	
 �� 
�
1√
n

X(nt) =
1√
n

Y ′(n(t − θn(t))) +
1√
n

(X(nt) − Y ′(n(t − θn(t))))

���������� �� Wγ(t)� �������
 |X(nt) − Y ′(n(t − θn(t)))| � m �� ����������
���
������� �����
 ������
 ����	���
 ���
	����� ������ ���������� �����
 �
������ ���
 ��� ����
 ���!��� {X(k), k ∈ Z+} �����"��� ���!������
# �����$

��� (q, p) 	����������� ���!���
Z ′(k) = sign(Z(ζk)) = Z(ζk)/(m + 1)

������
���� �� ����%���� &����#�� ����'��() �
���	


(q, p)
(

1 − ρ−m ρ−m

1 − ρm ρm

)
= (q, p),

��� ����� q + p = 1� �� ρi� i = −m, . . . , m * �	��������� � i ������
�
 � m + 1� ��
���������"
 � m − 1 * ��������� � �
���	


ρi = pi,m+1 +
m∑

j=−m

pi,jρj , i = −m, . . . , m.

���
	 "
��	�

p =
ρ−m

1 − ρm + ρ−m
, q =

1 − ρm

1 − ρm + ρ−m
.

+���#����
 �� �����"��� �����	
 � &ρ−m = α� 1−ρm = β)� ���
	��	� �������
#
���������,

p =
α

α + β
, q =

β

α + β
.

-�.� �	��
 �) �� 
) �����	
 � ����"���� �
��������� �����
 ��� ����� m + 1�
��� �"��
���� p = 1�

����������

�� �� ������� �������� � ���	�
 ��	��������
 � �� �	��������� 	
��
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7� �� 8� �����
��� $�%&' � � ��	�����()� ' �)� ��	�'�	��� ���*	)�)��� 9���	 8
��	����

:���:��	�	 �;� <���=
	� >��?%@ �9���%@ A:��%�
����A �� :���:��	B
� ����	��	���� �� 3�
C	=�� ���7�

D� E� ;� �	
���� F� ;� G	H	
�� +	�������
 ��%%&'�����
 �	�,��� ��� ������	����-� ��&.

/)
��-� *�&��)��� �) ������	��
 	�0��1�� <�� �������	� 2����4� 3�6�55�
�� +� ,� I-.$(J� +� K� ,-%$J#.L� #() !� M'$� 2 " # 3�4!5 �� �6 #4� 74�� 8��#!9:5��# ;!9< �!�=�"

�!9� !�= ��"� �>#��� ��� �6 #4� ?������:@���4���5  �5!� !�;� A� �; A9�� N-.'$J 0$'1#1�
+//O� 	
 2�55�4� ('� �� ���6��7�

��  � P� Q$''R& #() S� T� I-#U'(� ? BC� ��� !� ! 9 " # �6 �#��#;4�= ����� !� "�# ���� +)L#(U.&
%( !#V-.W#V%U& 	� 2��3�4� �5�6����

3� !� 8� X$.%)O%( #() +� Y� Z.(V[.O� ? BC� �� A��;����� �� !� �A�� 3��� !�= #4� !5��!D �D

A� �; A9�� ,V'U-#&V%U 0$'U.&&.& #() V-.%$ +//O%U#V%'(& ��� 2,./V.W1.$ �5574� ('� �� �5�6����
�� +� !� P\O%R� E 9 " # #4����" 6�� = BC� ��� �� D�!A4� � #4 5!� !39� ;��FDC�!# ��� +$]%^

L._W#V-�0S`5�5�����

�������� ���	����
� ��� 

������ ���� �	�	�	�
����
� �� ������ ����� 

�����

G�	��) ���1�	����H ��0��_ ������������	
���	
�

������������ �	 ��!��� ����	����	� 

����� "�#�$� %���%	
� #	�	��&� �'� ���(��

����� 

�����

G�	��) ���1�	����H ��0��_ ��
����
�������	���

/���#��� 012032
0�0


